F—RAH—7> FhiRseiliE RSP (EERm)

2023F11718%E
X5y ElRE= RSB (BA)
HFREF— X —F 1,580 = 1,680
ZEIDHARF — X —F 1,750 = 1,780
R Load 3,700 = 3,900
LsaE/NZ5 3@AA 2,200 = 2,300
NASU WHITE 2,180 = 2,300
INZAOF—X—=F 1,850 = 2,160
HARF—XovHF— 1A 130 = 150
HEREF—XTOvF— 48A 550 = 600
HAEF—XowvH— 8KA 1,100 = 1,200
HEBF—XovE+— 168 2,100 = 2,300
FEIOMBER v F— 28A 300 = 330
FEIOMBER v F— 8HA 1,200 = 1,300
HEBEX IV« 780 = 980
JaF>>x 1A 230 = 250
JaF>>x 2fEA 460 = 500
JaF>>1 6fEA 1,380 = 1,500
Ja4F>>1 10A 2,300 = 2,480
BT ALy bF—=X 1A 230 = 250
HLw hF—X 28A 460 = 500
HLw hF—X 8HA 1,840 = 1,980
F-XS2T RSy 1A 140 = 150
F—-XS2T RSy 5MA 740 = 800
F—-XS2T Ry 10A 1,480 = 1,600
>a1—-3SRY 15@EA 1,180 = 1,300
d—bE—>335>a1— 108A 950 = 1,200
TF7—E>RAR—JLARORU— 90g 380 = 480
F—Z)\I 1,490 = 1,680
F=Z)\DA(HY ) 1EA 240 = 250
F-N\TA(FY ) 4EA 990 = 1,000
vy NS @Ei%\;ﬁ\fi?j—l\ 760 = 820
F-XH—F7>7V— v kB 880 = 1,000
- WBZCDI)LT4—1 4EA 680 = 880
FrSHAINF-XZ)T4—1 MAAN 680 = 880




